7{9E ¢=F0]5, 2lL|H RAS

3/MIE olo|X]|

Mo
o

K0499

=25

= A3 F DIN 7984 2! 7t L{E DIN 985, &

174
ra n
LH
Z
o)
%_ @
_ i
% ofr
4 o Z
o) 1l m @
< H_q_ 0
= oo T
W BMu . &
..o TP <00
B0 i BIWR ROR :
W Faw Had oF W
RS ©
|
\ |
or
o
B Hr
H Hi

1/2

www.kipp.com - info@kipp.com

X REYEH, 22005, 2IL|o] RAS
© HEINRICH KIPP WERK GmbH & Co. KG



K0499

°

= Eld Ll ok=Znl= oL

X TT— 9'I—|E'I ETDIEI EILIO'I WJJ%

Z= 29
FEHS Q"S.*Fé EI2| E B C D L M1 M2 M3 M4 VA1

IO

K0499.18 1 18 42 42 55 37 28 28 30 30 M6x20
K0499.30 2 30 60 60 6,5 50 40 42 42 45 M8x25
K0499.40 1 40 90 90 8,5 70 60 60 64 64 M10x30
K0499.50 1 50 105 105 10,5 85 74 74 80 80 M10x35

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/2



